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CLI MATE CHANGE WORKSHEET ANSWER KEY LEVEL e

3 Possible answers:

1 Firemen are putting out a forest fire. Forest fires are an effect of climate change. Changes
to rain patterns can cause forests to become very dry, and this can increase the risk of fire.

2 A man is cutting down a tree. Deforestation is a cause of climate change. When we cut down
trees, a lot of carbon dioxide goes back into the atmosphere.

3 A ship is sailing through melting ice. Melting ice is an effect of climate change. The warming
of the Earth is causing the Arctic sea ice to melt.

4 Men are working to find fossil fuels. Burning fossil fuels is a cause of climate change. Every

year, people put about 40 billion tonnes of carbon dioxide into the Earth’s atmosphere.
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S Reader’s own answers.

6 ' Reader’s own answer.
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